Exponentials Study Guide Ketj

Obiectiva. N
Jective: Be able to identify exponential growth/ exponential decay.
1.Isit Exponential Growth or Decay?
a. f(x) = 7(2)* Gn wHhab>1

b. f(x) = (3) 'De«.-.‘ya be 4
c. f(x) = DG(‘\Y + F0) = (13* bed
d. f(x) = 5(04)" Vewy ved

Objective: Be able to Write an exponential function and find a value from it.

2. Wnte the Exponentlal Function for each table.
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3. Mr. Allen bought a used Infiniti car for $16, 790. It i iati a rate of 6% per year.

g (o= 16 7%( 94)°

e a. Write a function for this situatign

b. What is the average rate of change for the first two years? Interpret it in contex 41\2 v .e she @&
£(2)= 14,83s. 04 1y, 835.64 = 1790 _ -ns-c s - jue ,m ,g
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4. In the absence of predators, the number of squirrels on Vanderbilt’s campus 1s tripling each year opulatlon begms 6 5+
with 250 squirrels. %«S

a. Write a function for this situation.
b. How long will it take the population to reach 10,00Q squirrelgg, . SE

Objective: Be able to graph exponential function transformations. (and know domain, range, end behavior, and aSymptotes)

5. Graph the Exponential Function and describe its key features.
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Objective: Be able to write compound interest formulas two ways.

8. Ms. Bolus has $25,000 invested at a rate of 1% compounded quarterly.

a. Write a compound interest function for the situation using ¢ as your exponent. Round to four decimal places.
Lo\t : 4¢ J[*
sw= 25,000 (xS Fle)= 25000 (1.0025) " J‘(t)=25,w°((—l-902$3]

b. Find out how much Ms. Bolus has in the bank after 6 years. @C:‘)T‘ S, 0se (l- olo @ 0
~ 826,538 00)

Objective: Be able to interpret exponential functions written different ways.

9. a. Three physicists describe the amount of a'radioactive substance, Q in grams, left after t years:

t

Physicist 1: Q = 250 (%)g Physicist 2: Q = 250(0.8909)¢ Physicist3: Q = 198.426(0.8909)*2

a. WITHOUT graphing, show that all three of these are equivalent. -2 &
e 00250 (0- 309t G= 192.426 (0.890%) (0.870“)
+250(0-
Q= 250(0-F90
b. Which expression highlights the decay rate each year? Why? What is the'percent decay each year?
Physicisr 2 = | v
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c. Which of the expressions highlights what the amount of radioactivity is after 2 years?
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d. Which expression highlights the half-life (the time taken for the radioactivity of a specified isotope to
fall to half its original value) of the radioactive substance? Why? What is the half-life?
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